normalized X?

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

<o pTIpT > (Yo)

Ratio

14 16 18 20
X2

[ normalized x? probability |

Ratio

Y S S

0.5

+ . [Entries 716
Mean 0.1624
Std Dev

0.4fF--i--+

0.3

Ogf-eieest
-I||IH|| TG IIIIHII IIIIII II IIII I III-

0.2f--i---

'||| I|IIIIIII
0 0.10.20304050.6 0809 1
Prob(x2)

N
il
T

o
Qo
TrrTprTTiTTY

<op./p. > )

I
=

e =

0.5 - -1+ |

107

10

Ratio

< X2/ ndf >

Ratio

0 2 3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

107 1072 107t
AR(track, jetg)



	Contents
	Page 1


